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Heritage 150  
Lattice Crescent Shawl 

Designed By Jennifer Weissman 
 

Skill Level:  
  Intermediate 
 
Size:  
  85" (216 cm) wide x 16.5" (42 cm) deep  
 
Materials: 
  Cascade Yarns® Heritage 150  
  75% Merino Superwash Wool / 25% Nylon 
  150 g (5.25 oz) / 492 yds (450 m) 
  2 skeins color #5681 (Lime Stone) 
  US 6 (4 mm)/ 34" (86 cm) circular knitting  
  needles or size to obtain gauge 
  US 10 (6 mm) knitting needles for BO 
  Yarn needle 
  Pins for blocking  
 
Gauge: 
  17 sts x 44 rows = 4" (10 cm) blocked in Garter St 

Abbreviations: 
BO  = Bind Off 
CO  = Cast On 
K  = Knit 
K2tog  = Knit 2 stitches together 
M1  = Make 1 stitch with left needle, left strand between sts from the front, knit into back of loop. 
P  = Purl 
P2tog  = Purl 2 stitches together 
RS  = Right Side 
Sl2-K1-P2SSO = Slip 2 sts knitwise, Knit 1 sts, then pass the 2 slipped sts over. 
SSK  = Slip 1 st, Slip 1 st, knit these 2 sts together. 
St(s)  = Stitch(es) 
WS  = Wrong Side 
YO  = Yarn Over 
 

Note: This shawl is a crescent-shaped shawl worked from the top down. To keep the edges of the shawl from 
becoming tight, the 1st and last 2 sts of every row should be worked loosely.  
 
Special Stitches: 
Small Lattice Stitch Pattern: 
Row 1 (RS): K3, YO, K1, YO, SSK, *[K1, K2tog, YO, K1, YO, SSK]; repeat from * to last 7 sts, K1, K2tog, YO, K1, 
YO, K3. (2 sts increased) 
Row 2 and all WS rows: K2, P to last 2 sts, K2. 
Row 3: K2, YO, K1, YO, K3, YO, *[Sl2-K1-P2SSO, YO, K3, YO]; repeat from * to last 9 sts, Sl2-K1-P2SSO, YO, K3, 
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YO, K1, YO, K2. (4 sts increased) 
Row 5: K3, YO, *[K1, YO, SSK, K1, K2tog, YO]; repeat from * to last 4 sts, K1, YO, K3. (2 sts increased) 
Row 7: K3, YO, K1, *[K2, YO, Sl2-K1-P2SSO, YO, K1]; repeat from * to last 5 sts, K2, YO, K3. (2 sts increased) 

Large Lattice Stitch Pattern: 
Row 1 (RS): K2, YO, K4, *[K5, YO, K4]; repeat from * to last 7 sts, K5, YO, K2. (36 sts increased) 
Row 2 and all WS rows: K2, P to last 2 sts, K2. 
Row 3: K2, [YO, K1] twice, SSK, K1, *[K2, K2tog, [K1, YO] twice, K1, SSK, K1]; repeat from * to last 8 sts, K2, 
K2tog, [K1, YO] twice, K2. (2 sts increased) 
Row 5: K2, YO, K3, YO, K1, SSK, *[K1, K2tog, K1, YO, K3, YO, K1, SSK]; repeat from * to last 9 sts, K1, K2tog,  
K1, YO, K3, YO, K2. (2 sts increased) 
Row 7: K2, YO, K5, YO, K1, *[Sl2-K1-P2SSO, K1, YO, K5, YO, K1]; repeat from * to last 11 sts, Sl2-K1-P2SSO,  
K1, YO, K5, YO, K2. (2 sts increased) 
Row 9: K2, YO, K7, YO, *[Sl2-K1-P2SSO, YO, K7, YO]; repeat from * to last 12 sts, Sl2-K1-P2SSO, YO, K7, YO,  
K2. (2 sts increased) 
Row 11: K2, YO, K9, *[YO, K1, SSK, K7]; repeat from * to last 12 sts, YO, K1, SSK, K7, YO, K2. (2 sts increased) 
Row 13: K2, YO, *[K1, YO, K1, SSK, K3, K2tog, K1, YO]; repeat from * to last 3 sts, K1, YO, K2. (2 sts increased) 
Row 15: K2, YO, K1, *[K2, YO, K1, SSK, K1, K2tog, K1, YO, K1]; repeat from * to last 4 sts, K2, YO, K2.  
(2 sts increased) 
Row 17: K2, YO, K2, *[K3, YO, K1, Sl2-K1-P2SSO, K1, YO, K2]; repeat from * to last 5 sts, K3, YO, K2.  
(2 sts increased) 
Row 19: K2, YO, K3, *[K4, YO, Sl2-K1-P2SSO, YO, K3]; repeat from * to last 6 sts, K4, YO, K2. (2 sts increased) 
Row 21: K2, YO, K4, *[K5, YO, K1, SSK, K2]; repeat from * to last 7 sts, K5, YO, K2. (2 sts increased) 

Begin Pattern: 
CO 5 sts using the Knitted CO or the Long Tail CO method. 
Body: 
Row 1 (RS): K2, YO, K1, YO, K2. (7 sts) 
Row 2 (WS): K2, YO, K to last 2 sts, YO, K2. (2 sts increased) 
Rows 3-119: Repeat Row 2. (243 sts) 

Transition to Small Lattice: 
Row 1 (WS): K2, YO, P to last 2 sts, YO, K2. (245 sts) 
Row 2 (RS): K2, YO, P to last 2 sts, YO, K2. (247 sts) 
Row 3: K2, YO, K to last 2 sts, YO, K2. (249 sts) 
Row 4: K2, YO, K8, M1, [K10, M1] 23 times, K7, YO, K2. (26 sts increased = 275 sts) 
Row 5 (WS): K2, YO, P to last 2 sts, YO, K2. (277 sts) 

Small Lattice: 
Rows 1-8: Work Rows 1-8 of Small Lattice Stitch Pattern. (287 sts) 

Transition to Large Lattice: 
Row 1 (RS): K2, YO, K to last 2 sts, YO, K2. (289 sts) 
Row 2 (WS): K2, YO, K to last 2 sts, YO, K2. (291 sts) 
Rows 3-4: K2, YO, P to last 2 sts, YO, K2. (295 sts) 
Rows 5-11 (3 Garter st ridges): K2, YO, K to last 2 sts, YO, K2. at Row 1. (309 sts) 
Rows 12-13: K2, YO, P to last 2 sts, YO, K2. (313 sts) 
Rows 14-15: K2, YO, K to last 2 sts, YO, K2. (317 sts) 
Row 16: K2, YO, P to last 2 sts, YO, K2. (319 sts) 

Large Lattice: 
Rows 1-30: Work Rows 1-21 of Large Lattice Stitch Pattern, then repeat Rows 2-10 once more. (383 sts) 
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Final Rows: 
Row 1 (RS): K2, YO, K to last 2 sts, YO, K2. (385 sts) 
Row 2 (WS): K all sts. 
Row 3: K2, YO, P to last 2 sts, YO, K2. (387 sts) 
Row 4: K2, P to last 2 sts, K2. 
Row 5: K2, YO, K to last 2 sts, YO, K2. (389 sts) 
Row 6: K all sts.  

Finishing: 
Using larger needle, BO loosely on RS, *[P2tog, slip resulting st back to left needle purlwise with yarn in 
front]; repeat from * to end, cut yarn and pull through final st. 
Weave in ends (but trim them after blocking).   
Soak in water for at least 15 minutes.   
Rinse and roll tightly in a towel to blot out water.   
Lay flat and, working from the center of the shawl out to the pointed tips, smooth into a shape similar to  
that shown in the Schematic Diagram.   
Take care to shape the top edge into a straight line and to pull the bottom edge down to form the  
crescent shape, pinning the edges in place as you go.   
Remove the pins when the shawl is thoroughly dry.   
Trim the yarn ends. 
Schematic Diagram: 
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Charts: 
Odd-numbered rows are RS rows. 
Stitch repeats are outlined in red. 

 


